Total No. of Printed Pages—8
1 SEM TDC ME (CBCS) G 101

2019
( December )

COMMERCE
( Generic Elective )
Paper : G-101
( Microeconomics ) '

Full Marks : 80
Pass Marks : 32

Time : 3 hours

The figures in the margin indicate full marks
Jor the questions

1. oo Fam Pt PR Sed for 1x8=8

Answer the following as directed :

@ ‘TR R O T GO TR

The price of the commodity’ is a factor of
demand function.

(% =% forar )
( Write True or False )
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(2)

(b) ofEF S W TI, @on nRE Ffemose
27 (9IOF II/GFT H/GTOF
3% /) |
Marginal revenue will be zero, if elasticity

of demand is (less than one/equal
to one/greater than one/zero).

(o Te0Hl AR Sferean )
. ( Choose the correct answer )
(c) TR TR WA 7
What is production function?
(d) @ AIE ITWRS erﬁmaa T=E g
{4 A Fq?

Under which form of market a firm is a
price taker?

() Tb I T FICIHR TR ?
Total cost is the summation of
() R MO P RS I

total fixed cost and total variable
cost

(i) % I IF AT W
average cost and marginal cost
(i) AFS [ IF A |
real cost and opportunity cost
(iv) 7& W = Afis |
selling cost and money cost
(o= TeTh MR Bferean )

( Choose the correct answer )
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() CFEq SRR AW iR afecaiier
TG TS TS ?
Which of the following economists is
associated with monopolistic competi-
tion?
i) s Py
Adam Smith
(i)
Keynes
(iii) CoTARH
Chamberlin
(iv) W&
Marshall

(o TeI0 AR Bfrear )

( Choose the correct answer )

(g @FF J|ES WH W FfRR cvae
- ARBEPRR R ST 7

In which market firms are mutually
interdependent in determination of price
of commodity?

() = e @]

Perfect competition

(i) GICOHA IWR
Monopoly

20P/485 ( Tum Over }




(4)

(iii) <RI AfSrafre A
Monopolistic competition
(iv) 8 Rewor TR
Oligopoly
( % Te0o! AR Sfrear )

( Choose the correct answer )

@IS & IH |

AR curve is also known as

(AR 3 oEr =)
( Fill in the blank )

(h) AR @Y

2. @ fARERY el e & GR B (R
T ifdor) 4x4=16
Write short notes on the following (any four :

(@) T AR AR T TerCSta R

Income effect and income consumption
curve

(b) TG [IR IFRPE

Characteristics of isoquant curve

() TS T AE AMRFE W T

. Relationship between average cost and
marginal cost
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(d)

(e)

3. (a)

(b)

4. (a)

20P/485

(S)

7o SRIR TN
Duopoly

SeIER AR

Producer’s surplus

TR R RRgewe &7 dfotr Pras =T
R W RREeRel @ $iR W, O
3 T 4+7=11
What is price elasticity of demand?

Examine the role of price elasticity of
demand in decision-making of a firm.

521 /Or

SEER OFINEl 7 @& TREER
@A ST S ¥, FRCrE Qe
s TR e JaiR | 3+8=11
What is consumer’s equilibrium?
Explain with the difference curve and
budget constraint how a consumer
attains equilibrium.

oo 2o R SCeoa 1 | ARTETNeT
Seom RtelE Seorm afm RS RS
P2 8+4=12
Discuss laws of returns to scale. How are
laws of returns to scale different from
laws of variable proportions?
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{6)

54T /Or

(b) T2 TER Teord Freafiel g & 2 srerRid
oot uie Il foaRer R sicEmwa
i | 2+10=12

What is economies of scale? Discuss
about internal economies and external
economies.

5. (@) <A afcafronE Iea (AFBPRE I 4|
o e Jaee A 99 FIFTTS
@A FORS JAE, SFee F[EFE AP
GTROF (TR SRES S e FRI A,
A F | 4+7=11
Discuss the features of a perfectly
competitive market. Explain how a firm
under perfect competition attains
equilibrium with normal profit, super
normal profit and loss in the short-run.

%<1 /Or
() °f Afferre wmRe KAt [ 39
¥ O TAMAY GRS ASH A/ I | 11

Explain the effect of imposition of a
specific tax on equilibrium price and
output under perfect competition.
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6. (a)

(b}

7. (@
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(7))

GIHT  IEIN @A e @
-1 Beomm % W9 AS 9Cq, I
T4 | G PR @R RN IR 40
[ 8+3=11

Describe how a monopolist determines
his profit-maximizing output and price
in the long-run. How can monopoly
power be measured?

%11/ Or

R Rt 7 ® R eeronR

THRAPTR, S 91 | 71 ReehieR w6z
SR 34 1 2+6+3=11

What is price discrimination? Discuss
the types of price discrimination with
examples. Discuss the conditions of
price discrimination.

FRIA Aol @RS AfBW
TIIETS (FCMCA ST oS IR, I 7 |
PR AfeiTer TERe wftafes e
o] “fReA, A F41 | 7+4=11

Hlustrate how a firm in monopolistic
competition reaches its equilibrium in
the short-run. Can economic efficiency
be attained in monopolistic competition?

Discuss.
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N /Or

(b) TWRFe IFTRO @I F(PIEAIAL
sfdrE R @ R covirel AfSdm
93ea R T SHifde $0 W RdRe 3,
W ) 4+7=11
Why does price leadership sometimes
evolve in oligopolistic markets? Explain -

how the price leader determines a
profit-maximizing price.

% % K
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